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(i) There are in all 30 Guestions in. this question paper. All questions are
compulsory.

(ii)) Question No.1 %710 carry one mark each. Question No.11 to 15 carry
two marks each, Question No. 16 to 25 carry three marks each and
Question No. 26.t0-30 carry six marks each.

(iii) Question*No.1 to 5 are multiple choice questions. Here four options are
given in each question. Write the correct option in your answer book.

(iv) There is no overall choice in question paper, however, an internal choic
has been.provided in two questions of 2 marks, three questions of
marks and three questions of 6 marks. You have to attempt only one
the given choices in such questions. :

(v) In questions on construction, drawing should be neat and exactly as |

the given measurement.

(vi) Use of calculator is not permitted.
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In fo”““"”Q, the irrational number is-
(i) 5
1

0 V3 (i) Ja
. oo sgee & g e 2 -
The degree of 3 quadratic polynomial is - (iv) 3
(o L (i) 1 iy~ 2 |
7 - 1
SHIGR BT 4, 10, 16, 22, - &T 3T U &N
The next term of A.P. 4, 10, 16, 22, ---==== will be - vy 32
(i) 26 (i) 28 (i) 30 (i
af v g1 & GRA 3R e S F9 W A & anqqg?f?a?ﬂ%iam% 1
()2 TS (i) 4 AT5® (iii) = ATAD (iv) 7 3@ |
If the perimeter and the area of a circle are numerically equal, then the radius of
the circle is . n
(i) 2 units (i) 4 units (i) munits (iv) 7 units
39 v, {3 ufea 8 Fiftaa @, & wiisar &t & - 1
The probability of an event which is sure to occur is :
(i) 1/2 ST (iv) 2
1

(i o
%maaﬁ:aﬂwﬂ—gé‘b\%ﬁaaaﬁﬁm 3

Solve the quadrat@quation x*= 9 = 0.
N
1

. N\
gfe cot A =%Q6TtanAairm=rﬁlﬁaﬂﬁitfl

If cot A = E, then calculate the value of tan A.

& FHEY FAYST D Y5 4 : 5 & U A &, ITh SFwel B AU 1 Difoel 1

8.
Sides of two similar triangle are in the ratio 4 : 5. Find the ratio of their areas.
S 6 25 -
9. gu R e foxit famg W g o ot vl @ & ot &» ~ 1
How many tangents are there to a circle, passing through a point lying on the
circle? |
31 (HSG) [2]
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19. f&f 9o o1 g sa o afk s Mitae sk sgeS wAw: 45k 131

Find the mean of a distribution if its median and mode are 45 and 13
respectively. ' :

11. TfE EUT ax2-8x-4 & IATH &1 A 4 A Y a B A q@w=H| 2

If the sum of zeroes of the polynomial ax-8x-4 is 4, then find the value of a.

12c AR A, B, C Rt & b aTRe Bor & o e ire s - | 2

- 13.

14.

15.

B+C A B+C . A
C0S— + COS sin— =1

2 2 2
If A, B, C are the interior angles of A ABC then show that -

+C cos% + COS B;C sin% =1

sin

. B
sin

FaT (OR)

1+tan’ A

— = tan? A
1+cot“A

oz Sifawe -

1+tan’A

== —tan’A
Prove that 1+cotZ A

St s 5 @ g (5:°-2), (6,4) 3R (7, -2) v Tlearg B & ¥ &1 2

Check whether (5,-52), (6,4) and (7, -2) are the vertices of an isosceles

triangle.

3 /. ﬁﬂawqﬁ@ﬁvsﬂimmﬁﬁﬁamwﬁ%mﬁﬁm 2

Draw a circle of radius 3 cm. and then draw a tangent at any point of it.

o SR @ e et S 1 0 R i ST X @ e s Bl 2

A dice is thrown at random. Find the probability of getting an odd number. '
3r@ar (OR)

12mw132mﬁ$ﬁm#%wﬁwmmm% feR RS

sreT @ &Y Wik s diforel

A pen Is drawn at random from a mixture of 12 defective pens and 132 good

pens. Determme the probabllitY that the pen taken out is good one.
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16. 2X4-3x3—3x2+6x—2 &
S mmﬁwaﬁaﬁmuﬁmawﬁm_ﬁ
Find all other zer 4 . 3
are y3and .. 15 .Oes Of 2x%-3x3-3x2+6x-2, if you know that two of its zeroes
17. ﬁﬂiﬁ%ﬁﬂmﬁaﬁmﬁvﬁfﬁ@rgﬁaﬁﬁv 3
Solve the following equations graphically :
X+3y=6
2x - 3y = 12
| 18. Tl HRR A0 (A.P.) BT wom wa 8, 31w 02 62 3R 92t @1 @i 210 R, wai @) W
: AR Araf=R sa Hifswe 3
The first term of an A.P. is 8, the last term is 62 and sum of theterms is 210.
Find the number of terms and common difference.
' 19. H.C.F. (306, 657) = 9 & &, L.C.M. (306, 657) 54 S0 3
' Given that H.C.F. (306, 657) = 9, find L.C.M. (306, 657)
341 (OR)
foe o5 6 5 ves amfa wem &
Prove that /5 is an irrational number.
20. T tan 20 = cot(6+ 6°) &, T o B AF 71T SIC| [20 T (o +6°) BFI T DT ]
3
If tan 20 = cot(8+ 62%,"then calculate the value of g, [ 29 and (¢ +6°) both are ‘
acute angle]
1
21. ﬁaza%’r%mﬁsraa(a 0), (0, b) 3R (1, 1)@%@'}11%21% +E = 3.
1 1
Prove that the points (a, 0), (0, b) and (1, 1) are co-linear, if E b= 1
3uar (OR)
famgait (1, -4) 3R (-5, —6) P AT I @GS B Y - et v arqura A fawfa
R &1 39 vfaee forg & Fdens W s i
Find the ratio in which the Y-axis divides the line segment joining the points
(1, -4) and (-5, -6). Also find the point of intersection.
1 (HSG) [4]
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22. UF WHUQYS F1 et s St s M 58 ma F (3, 0), (4, 5) (-1, 4)3ﬂ"'
(-2, -1) & 3
Find the area of a rhombus If its vertices are (3, 0), (4, 5), (-1, 4) and (-2, 1)
taken in order.

23. & BT 5 arerfirg ¥ gw w ik 7 @ wadh Yemit B v R SR & 3

Prove that the length of two tangents drawn from an external point to a circle

are equal.,
24. 3N A, OACBéﬁoaﬂ?ﬁﬁm35cmaﬁEﬁqﬁaﬂﬂ§aﬁT%|ﬂﬁ!OD =2cm &,
1 B WM &1 &% 1 Sl . 3

In figure, OACB is a quadrant of a circle with centre O and radius 3.5 cm. If

OD=2 cm, find the area of shaded region. http://www.ukboardonline.com

3rar (OR)
Ry T 3Ry A BT MR T &TE ST Bifete, STET ABCD, 20 JHY 31T &1 US
3 o 39 T B YN AL AEER IS Y R Hgad @i W€, (n = 3.14)
Find the area of the’shaded region, where ABCD is a square of side 20cm and
semicircles arexdrawn with each side of the square as diameter, (n = 3.14)

A — 20cm — B

_- 231 (HSG} o - [5] [ P.T.O.
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25 73%-6@%%%@; STt !
, : 3 e ol 21 Wi &
A9 fifae) s 3

Draw a line segment of length 7.8 cm. and divide it in the ratio 5 : 8. Write the -

measurement of both parts,

26. 0 T 12 62 3 e & st 35 oy, e e &5 g 55 R, ST R 10
T 30 . R 3 Sfiger oo 44 R, ey 35 st R 1 €T Y I e e

It A A B A 3 D) 6

_-A boat goes 35 Km. upstream and 55 km down-stream in 12 hours. In 10
hours it can go 30 km. upstream and 44 km. down-stream. Determine the

speed of the stream and that of the boat in still water.
3aar (OR)

3ﬁ1ﬁmﬁﬁm(aﬂﬁ)mwmmﬁsaﬁmﬁﬁm$mmm
3 %l IS T 3T T B

The sum of the reciprocals of Mohan's age (in years) before 3 years-and after 5

L .
years from now is 3 FindlRis present age.

27. R Bifvre s e e g 3 fodl g e it v et Yot 6 vy o o -
fergeit &1 e T RS g1 & W 3iaRa ST 1w e & 6
Prove that the-angle between the two tangents ‘drawn from an external pomt to

a circle is supplementary to the angle subtended by the line segment ]olmng the

-

pmnts of contact at the centre. . ' .

Fat (OR) o

BmenwmmﬁgaABcﬁmm%msﬁﬁ%ﬁmmAWél
B fe 4(BL2+CM?) = SBC?.

ol

| ,._BL and CM are medians of a tnangle ABC rlght ang(éd at A. Prove that

; 4{BL2+CM2) = ssc2

231 (HSG) = i SR TS
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28. 7 m a1 20 m TERT o 3t et e & 3k ey 2 Fraed g€ frg B wA ¥4
'\ET'&'TF'I'IWZZ m x 14mmwmmﬂmﬁl ﬁﬂﬁﬁmmml

' 6

A 20 m deep well with diameter 7m is dug and the earth from digging is evenly
SPread out to form a platform 22m by 14 m. Find the height of the platform.

% *Wﬁ%%%w%ﬁmmmaﬁw 300 & 3R wET & e-fag |

AR ﬁT@W}‘rﬁa‘—Iaﬁm 60° 8| afE MR S0m Ft B, 7Y waT B Faé ra Hfwl

The a"'H;;ne of elevation of the top of a building from the foot of the tower is 30°

and the angle of elevation of the top of the tower from the foot of the building is
. .

60°. If the tower is 50m high, find the height of the building.

29.

JAYar (OR)

T A ATt v AR 5 U e 1 &1 9K & REw W @81 s 3 U6 DR
P 30° & FHITHT BT R a3 5 DR B T B 3R v T T & I R1 S
APUE TE T B I P01 60° B T wﬁg%ﬁqﬂasmaasugaﬁﬁmam
foram mar v s e

A straight highway leads to the foot of a tower. A man standing at the top of the
tower observes a car atah angle of depression of 30°, which is approaching the
foot of the tower with a uniform speed. Eight second later, the angle of
depression of thear is found to be 60°. Find the time taken by the car to reach
the foot of thetower from this point.

30. = aRaRar e & v aftae s difse - | 6

Il 3R TRERAT
140 & &H 4
140-145
145-150 | 18
150-155 11
155-160 6

‘ 160-165 5

231 (HSG) (7] 1PTO.
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Find the med;

Class interval Frea
uency
e Less than 140
140-145 ¢
145-150
18
150-~155
11
155-160 6
160-165 s
&
N
N
Q
N
$
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